B pcr3g0_2019
CONDUIT_ATTACHMENTS

RECID : MUMBER{38, 0

TEMANTS_RECID : NUMBER(38, 0)

MODIFIED_DATE : DATE

MODIFIED_BY - ARCHAR2(20 CHAR)

\COMDUIT_RECID : NUMBER(38, 0)

FILES_RECID : NUMBER(38, 0)

lePHeCONDUIT _ATTACHMENTS _PH: RECID
leFReCONDUIT _ATTACHMENTS _1_FK: CONDUIT_RECID
eFK=CONDUIT_ATTACHMENTS_2_FK: FILES_RECID
eFKeCONDUIT _ATTACHMENTS _T_FK: TENANTS_RECID

COMDUIT_ATTACHMENTS_1: CONDUIT_RECID ASC
COMDINT_ATTACHMENTS_2: FILES_RECID ASC
COMDUIT_ATTACHMENTS_PK: RECID ASC
COMDUIT _ATTACHMENTS_T: TENANTS_RECID ASC

RECID
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CONDUIT_ACCESS_POINTS

RECID : NUMBER(38, 0)

TENANTS_RECID - NUMBER(38, 0)

MODIFIED_DATE : DATE

MODIFIED_BY - WVARCHARZ(20 CHAR)

CONDUIT_RECID : NUMBER( 38, 0

ACCESS._POINTS_RECID : NUMBER{38, 0)

aPH=CONDUIT _ACCESS_POINTS_PK: RECID

aFH=CONDUIT _ACCESS_POINTS_1_FK: CONDUIT_RECID
aFR=CONDUIT _ACCESS_POINTS_2_FK: ACCESS_POINTS_RECID
«FK=CONDUIT_ACCESS_POINTS_T_FK: TEMNANTS_RECID

COMDUIT_ACTCESS_POINTS_1: CONDUIT_RECID ASC
COMDUIT_ACCESS_POINTS_2: ACCESS_POINTS_RECID ASC
COMDUIT_ACCESS_POINTS_PK: RECID ASC
COMDUIT_ACCESS_POINTS_T: TEMANTS_RECID ASC

RECID |,

COMDUIT _RECID 1 COMDUIT_RECID

B pcrago 2014
CABLES_CONDUIT

RECID : NUMBER(38, 0)

TENANTS_RECID - NUMBER(38, 0)
MODIFIED_DATE : DATE
MODIFIED_BY : VARCHARZ2(20 CHAR)

\CABLES_RECID : NUMBER(38, 0)
\COMDUIT_RECID : NUMBER(38, 0)

lePH=CABLES_COMNDUIT_PK: RECID
|eFH=CABLES_COMNDUIT_1_FK: CABLES_RECID
leFR=CABLES_CONDUIT_2_FK: CONDUIT_RECID
|eFR=CABLES _COMDUIT_T_FK: TENANTS_RECID

CABLES_CONDUIT_1: CABLES_RECID ASC

CABLES_COMNDUIT_2: CONDUIT_RECID ASC
CABLES_CONDUIT_PK: RECID ASC
CABLES_CONDUIT_T: TEMANTS_RECID ASC

RECID | = RECID

B perago_2014
CABLES_ATTACHMENTS

RECID - NUMBER(38, 0)

TENANTS_RECID : NUMBER(38, 0)
MODIFIED DATE : DATE
MODIFIED_BY : VARCHARZ2(20 CHAR)

\CABLES_RECID : NUMBER(38, 0)
\FILES_RECID ; MUMBER(38, 0)

ePH=CABLES _ATTACHMENTS_PK: RECID
leFR=CABLES _ATTACHMENTS_1_FK: CABLES_RECID
leFR=CABLES _ATTACHMENTS_2_FK: FILES_RECID
leFR=CABLES _ATTACHMENTS_T_FK: TENAMNTS_RECID

{CABLES_ATTACHMENTS_1: CABLE=_RECID ASC
{CABLES_ATTACHMENTS_Z: FILES_RECID ASC
{CABLES_ATTACHMENTS_PK: RECID ASC
{CABLES_ATTACHMENTS_T: TENANTS_RECID ASC

RECID

\RECID : NUMBER(38, 0)

\CABLES_RECID : NUMBER(38, 0)

E'!TI
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CABLES ACCESS POINTS

poragd_2019
CABLES EQUIPMENT
RECID : NUMBER( 38, 0}
TEMANTS_RECID : NUMBER( 38, 0}
MODIFIED _DATE : DATE
MODIFIED _BY . VARCHARZ2(20 CHAR)
CABLES RECID : NUMBER(3S, 0)
EQUIPMENT _RECID ; MUMBER( 35, O}
FROM_EQUIPMENT _FLAG : NUMBER(1, O}

TENANTS _RECID : NUMBER(38, 0)
MODIFIED_DATE : DATE
MODIFIED_BY : WVARCHARZ2{20 CHAR)

ACCESS_POINTS_RECID : HUMBER(3S, O}

ePH=CABLES_ACCESS_POINTS_PH: RECID

aPH=CABLES_EQUIPMENT_PK: RECID
aFR=CABLES_EQUIPMENT _1_FK: CABLES_RECID
eFK=CABLES _EQUIPMENT_2_FK: EQUIPMENT _RECID
eFR=CABLES _EQUIPMENT_T_FK: TENANTS_RECID

eFH=CABLES_ACCESE_POINTS_1_FK: CABLES_RECID
eFK=CABLES_ACCESS_POINTS_2_FK: ACCESS_POINTS_RECID
eFH=CABLES_ACCESS_POINTS_T_FK: TEMANTS_RECID

CABLES_ACCESS_POINT=_1: CABLES_RECID ASC
CABLES_ACCESS_POINTS_2: ACCESS_POINTS_RECID ASC
CABLES_ACCESS_POINTS_PH: RECID ASC
CABLES_ACCESS_POINTS_T: TENANTS_RECID ASC

CABLES_EQUIPMENT _1: CABLES_RECID ASC, FROM_EQUIPMENT _FLAG ASC

CABLES_EQUIPMENT _2: CABLES_RECID ASC, EQUIPMENT_RECID ASCT, FROM_EQUIPMENT _FLAG ASC
CABLES_EQUIPMENT _3: EQUIPMENT _RECID ASC

CABLES_EQUIPMENT _PK: RECID ASC

RECID | « (CABLES_FQUIPMENT_T: TEMANTS_RECID ASC

RECID | »

CABLES_RECID

o
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PAIRS. STRANDS_TC_EQP

RECID : NUMBER(38, 0) ' -

TENANTS_RECID : NUMBER(38, 0)

MODIFIED_DATE ; DATE

MODIFIED_BY : VARCHARZ(20 CHAR)

MULTIPLES STATUS LISTS_RECID : NUMBER(38, 0)

PAIRS_STRANDS_RECID : NUMBER(38, 0)

TO_EQUIPMENT _RECID : NUMBER(38, 0)

TO_PORTS_PINS_LENS_RECID : NUMBER(38, 0)

«PK=PAIRS_STRAMDS_TO_EQP_PK: RECID
«FK=PAIRS_STRANDS_TO_EQP_1_FK: PAIRS_STRANDS_RECID
«FKsPAIRS_STRANDS_TO_EQP_2_FK: TO_EQUIPMENT _RECID
«FK=PAIRS_STRAMDS_TO_EQP 3 FK: TO_PORTS_PINS_LENS_RECID
«FK=PAIRS_STRANDS_TO_EQP_4 FK: MULTIPLES_STATUS_LISTS_RECID
«FK=PAIRS_STRANDS_TO_EQP_T_FK: TENANTS_RECID

PAIRS_STRANDS. TO_EGP_1: PARS_STRAMDS_RECID ASC

PAIRS_STRANDS_TO_EQP_Z: PAIRS_STRANDS_RECID ASC, TO_EQUIPMENT _RECID ASC
PAIRS_STRANDS_TO_EQP_3: MULTIPLES_STATUS_LISTS_RECID ASC, 0 ASC

PAIRS_STRANDS _TO_EQP_4: TO_EQUIPMENT _RECID ASC
PAIRS_STRANDS _TO_FQP_5 TO_PORTS_PINS_LENS_RECID ASC, 0 ASC
PAIRS_STRANDS _TO_FQP_PK: RECID ASC

PAIRS_STRANDS_TO_EQP_T: TEMANTS RECID ASC

RECID | * RECID

B pcr3g0_2019
PATH_LEGS
RECID - NUMBER(38, 0) '
TENANTS_RECID : NUMBER(38, 0)
MODIFIED_DATE : DATE
MODIFIED_BY - VARCHARZ(20 CHAR)
FROM_EQUIPMENT _RECID : NUMBER(35, 0)
FROM_PORTS_PINS_LENS_RECID : NUMBER(38, 0)
CABLES_RECID : NUMBER(38, 0
PAIRS_STRANDS RECID : NUMBER(38, 0
TO_EQUIPMENT RECID : NUMBER(38, 0)
TO_PORTS_PINS_LENS_RECID : NUMBER{33, 0)
«PKsPATH_LEGS PK: RECID
«FK3PATH_LEGS 1_FK: FROM_EQUIPMENT RECID
«FKzPATH_LEGS 2 FK: FROM_PORTS_PINS_LENS RECID
«FK3PATH_LEGS 3 _FK: CABLES_RECID
«FK3PATH_LEGS 4 FK: PAIRS_STRANDS _RECID
«FKsPATH_LEGS 5 FK: TO_EQUIPMENT RECID
«FKsPATH_LEGS B_FK: TO_PORTS_PINS_LENS_RECID
«FKsPATH_LEGS 7 _FK: PATHS_RECID
«FKzPATH_LEGS B _FK: BACKBONE_SERVICES_RECID
«FK3PATH_LEGS 9 _FK: LOCATIONS_RECID
PATH_LEGS 1: FROM_EQUIPMENT RECID ASC, 0 ASC
PATH_LEGS 10: LOCATIONS RECID ASC, 0 ASC
PATH_LEGS 2: FROM_PORTS_PINS_LENS_RECID ASC, 0 ASC
PATH_LEGS 3 CABLES RECID ASC, 0 ASC

PATH_LEGS_4: CASE WHEN ("PAIRS_STRANDS_RECID" IS MULL OR "TO_EQUIPMENT _RETID" IS MULL OR "PATHS_RECID"

PATH_LEGS 5 TO_EQUIPMENT RECID ASC, 0 ASC
PATH_LEGS_6: TO_PORTS_PINS_LENS_RECID ASC, 0 ASC

PATH_LEGS_T7: CASE WHEM ("TEMANTS_RECID" IS NULL OR "PATHS_RECID" IS NULL OR "INSTAMCE" IS MULL) THEMN MUILI

PATH_LEGS_&: BACKBOME_SERYVICES_RECID ASC, 0 ASC
PATH_LEGS_9: PATHS_RECID ASC, 0 ASC

EABLES RECID 1

L.
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B per3gl_2019
PAIHS_STHA[’-«IDS

RECID : NUMBER(38, 0)
TEMANTS_RECID : NUMBER(38, 0)

MODIFIED _DATE : DATE

MODIFIED_BY : VARCHAR2(20 CHAR)
PAIR_TYPE_LISTS RECID : NUMBER(38, 0)
PAIR_STATUS LISTS_RECID : NUMBER(38, 0)
CABLES_RECID : NUMBER(38, 0)

[MLIM - NUMBER( 33, O)

FROM_EQUIPMENT _RECID : NUMBER(33, 0)

|[FROM_PORTS_PINS_LENS_RECID : NUMBER(3E, O)

«PK=PAIRS_STRANDS_PK: RECID
«FK3PAIRS_STRANDS_1_FK: CABLES_RECID

«FKzPAIRS STRANDS_2 FK: PAIR_TYPE_LISTS_RECID
«FK3PAIRS_STRANDS_3_FK: PAIR_STATUS_LISTS_RECID
«FHzPAIRS_STRANDS_4_FK: FROM_EQUIPMENT RECID
«FHzPAIRS_STRAMDS_S_FK: FROM_PORTS_PINS_LENS_RECID
«FK3PAIRS_STRANDS_T_FK: TENANTS_RECID

FAIRS_STRAMDS_1: CABLES_RECID ASC
PAIRS_STRAMDS_Z: TEMANTS_RECID ASC, CABLES_RECID ASC, HUM ASC

PAIRS_STRANDS_3: PAIR_TYPE_LISTS_RECID ASC, 0 ASC
PAIRS_STRANDS _4: PAIR_STATUS_LISTS_RECID ASC
PAIRS_STRANDS_S: FROM_EQUIPMENT _RECID ASC, 0 ASC
PAIRS_STRANDS_E: FROM_PORTS_PINS_LENS_RECID ASC, 0 ASC

FPAIRS_STRAMDS_PK: RECID ASC
PAIRS_STRAMDS_T: TEMANTS_RECID ASC

RECID RECID

\TEMANTS_RECID : NUMBER{38, 0)
MODIFIED_DATE : DATE

MODIFIED_BY : VARCHARZ(20 CHAR)
PORTS_PINS_LENS_RECID : NUMBER(38, 0)
WLANS RECID : NUMBER( 38, 0)

«PKzPORTS_PINS_LENS_VLANS_PK: RECID
«FKzPORTS_PINS_LENS_VLANS_1_FK: PORTS_PINS_LENS_RECID
«FKzPORTS_PINS_LENS VLANS_2_FK: VLANS RECID
«FKzPORTS_PINS_LENS VLANS_T_FK: TENANTS_RECID

PORTS_PINS_LENS VLANS_1: PORTS_PINS_LENS RECID ASC

PORTS_PINS_LENS VLANS_2: WLANS RECID ASC

PORTS_PINS_LENS_WLANS_3: PORTS_PINS_LENS RECID ASC, VLANS_RECID ASC
PORTS_PINS_LENS_WLANS_PK: RECID ASC

PORTS_PINS_LENS_VLANS_T: TENANTS_RECID ASC

RECID RECID | «

0.1

PATHS_RECID

TENANTS_RECID : NUMBER(38, 0}
MODIFIED DATE : DATE

MODIFIED_BY : VARCHAR2(20 CHAR)
PATH_STATUS LISTS_RECID : NUMBER(3E, 0)
SERVICES RECID : NUMBER(33, 0)
LOCATIONS_RECID - NUMBER{38, 0)

HEADER : Y ARCHARZ(100 CHAR)

FOOTER : YARCHARZ(100 CHAR)

«PK=PATHS_PK: RECID
«FK=PATHS _1_FK: SERVICES_RECID
«FK=PATHS 2 _FK: PATH_STATUS_LISTS_RECID
«FK=PATHS 3_FK: LOCATIONS_RECID
«FK=PATHS _T_FIK: TENANTS_RECID

PATHS_2: LOCATIONS_RECID ASC, 0 ASC

PATHS_3 PATH_STATUS_LISTS_RECID ASC, 0 ASC

PATHS_PK: RECID ASC
PATHS_T: TEMANTS_RECID ASC

FROM_PORTS_PINS_LENS_RECID

&
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- PPL_CLEANUP
RECID : WARCHARZ(B1 BYTE)
EQUIPMENT_RECID : NUMBER(38, O)
EQUIPMENT : WARCHARZ{100 CHAR)
FPL_RECID : HUMBER{3S, O)
PORT : VARCHARZ(S0 CHAR)
PORT_STATUS . VARCHARZ(100 CHAR)
PORT_SIDE : VARCHARZ(100 CHAR])
DUPLICATE_PORT_COLUNT : NUMBER

\RECID : NUMBER(38, 0]

MODIFIED _DATE : DATE

1 l 1 l_ COMDUIT_RECID l

por3cgld 2015
CONDLIT

TEMANTS_RECID : NUMBER(38, O0)

(MODIFIED_BY : VARCHARZ({20 CHAR)

MAME : VARCHARZ(S0 CHAR)
COMDUIT_TYPE_LISTS_RECID : NUMBER(3S, 0)
[DESCRIPTION : WARCHARZ(200 CHAR)
[LEMGTH : VARCHARZ(50 CHAR)

(WIDTH : VARCHARZ(S0 CHAR)
FROM_LOCATION_RECID : NUMBER(38, 0)

lPH=CONDUIT_PH: RECID

|eFK=CONDUIT_1_FK: COMDUIT_TYPE_LISTS_RECID
eFF=CONDUIT_2_FK: FROM_LOCATION_RECID
|eFR=CONDUIT_3_FK: TO_L OCATION_RECID
eFF=CONDUIT _T_FK: TENANTS_RECID

[COMNDUIT_1: CTASE WHEN ("TEMANTS_RECID" IS MULL OR "MAME" IS NULL) THEN MULL ELSE "TENANTS_RECID" END ASC
CONDUIT_2: CONDUIT_TYPE_LISTS_RECID ASC, 0 ASC
COMNDUIT _3: FROM_LOCATION_RECID ASC, O ASC
CONDUIT_4: TO_LOCATION_RECID ASC, 0 ASC

CONDUIT_PH: RECID ASC

CONDUIT_T: TENANTS_RECID ASC

1 1 | CABLES_RECID CcABLES RECID
1 l CABLES _RECID “Il =i

por3cl 2018
CABLES

CABLES_RECID

RECID : NUMBER(38, 0

TENANTS_RECID : NUMBER(38, 0)
MODIFIED_DATE : DATE

MODIFIED_BY : VARCHAR2(20 CHAR)

MAME : \ARCHAR2(50 CHAR)
(CABLE_T'YPE_LISTS_RECID : NUMBER(38, 0
(CABLE_OVWMER_LISTS_RECID : NUMBER(38, 0)
SIGNAL_LOSS : VARCHARZ2(100 CHAR)
LENGTH : VARCHARZ2(15 CHAR)

DESCRIPTION - VARCHAR2{100 CHAR)
«PK»CABLES_PK: RECID

«FK»CABLES 1_FI: CABLE_TYPE_LISTS_RECID
«FK»CABLES 2 FK: CABLE_CVWNER_LISTS_RECID
«FK=CABLES_T_FK: TENANTS_RECID

CABLES_1: TENANTS_RECID ASC, NLSSORT("MNAME" 'nis_sort="BINARY _CI") ASC
CABLES_2: CABLE_TYPE_LISTS_RECID ASC, 0 ASC

CABLES 3 CABLE_OWRER_LISTS_RECID ASC, 0 ASC

CABLES_4: NLSSORT("MAME" 'nls_sort="BINAR"Y _CI™) ASC

CABLES_PK: RECID ASC

(CABLES_T: TENANTS_RECID ASC

[ ]
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L L YWLANS
'RECID : NUMBER(38, 0)

TEMANTS_RECID : NUMBER(38, O0)

MODIFIED _DATE : DATE

IMODIFIED _BY : VARCHARZ{20 CHAR)

VLAN D VARCHARZ(100 CHAR)
[DESCRIPTION : v ARCHARZ(255 CHAR)
GATENAY . VARCHARZ(50 CHAR)
HETMASK : VARCHARZ(S0 CHAR)

;-a:F'Hx"-r"L.-’-'l.NS_PH: RECID
aFK=YVLANS_T_FK: TENANTS_RECID

."-f"L.ﬂ.I"-.IS_1: TEMANTS_RECID ASC, NLESORT{™VLAN" 'nls_sort="BINARY _CI") ASC

VLANS_PK: RECID ASC
VLANS_T: TEMANTS_RECID ASC

MLAKS _RECID

~ —PIMS—HENS_RECID L
1 | PORTS_PINS_LENS| RECID 0.1
0.1 .

0.1

=) peragn_2018
PORTS_PINS_LENS

RECID : NUMBER(38, 0)

I TENANTS_RECID : NUMBER(38, 0
MCDIFIED_DATE : DATE

MCDIFIED_BY : VARCHARZ(20 CHAR)
PORT_TX_RX_LISTS_RECID : NUMBER(38, 0)
PORT_SIDE_LISTS_RECID : NUMBER(38, 0)
PORT : VARCHAR2(50 CHAR)
PORT_SPEED_LISTS_RECID : NUMBER(38, 0)
PORT_TYPE_LISTS_RECID - NUMBER{38, 0)
PAIR_STATUS_LISTS RECID : NUMBER(38, 0)

«PHPORTS_PINS_LENS_PH: RECID
eFK=PORTS_PINS_LENS_1_FK: EQUIPMENT _RECID

«FKsPORTS_PINS_LENS 2 FK: PORT_TYPE_LISTS RECID

\«FK:PORTS_PINS_LENS_3 FK: PAIR_STATUS LISTS_RECID
«FKsPORTS_PINS_LENS_4_FK: PORT_TX_RX_LISTS_RECID
«FK:PORTS_PINS_LENS_5_FK: PORT_SIDE_LISTS_RECID
\«FK:PORTS_PINS_LENS_G_FK: PORT_SPEED_LISTS_RECID

««FKsPORTS_PINS_LENS_T_FK: TENANTS_RECID

.F'CJF:TS_F'INS_LENS_‘I: EQUIPMENT _RECID ASC

PORTS_PINS_LENS_2: NLSSORT("PORT" nls_sort="BINARY_CI") ASC, 0 ASC
PORTS_PINS_LENS 3 PORT_TYPE_LISTS_RECID ASC, 0 ASC

PORTS_PINS_LENS 4: PAIR_STATUS_LISTS RECID ASC
PORTS_PINS_LENS 5 PORT_T¥_R¥_LISTS RECID ASC,

0 ASC

PORTS_PINS_LENS & PORT_SIDE_LISTS_RECID ASC, 0 ASC

FPORTS_PINS_LENS_7: PORT_SPEED_LISTS_RECID ASC,

0 AsC

poracd 2019
F'.ﬁ._THS _

RECID RECID RECID RECID RECID | *
PAIRS_STRANDS RECID 1
0.1 l
B per3g0_2019 B
PORTS_PINS_LENS_VLANS _
\RECID - NUMBER{38, 0) \ RECID - NUMBER(38, 0)

PATHS_1: CASE WHEN ("SERVICES_RECID" IS MULL OR "PATH_STATUS_LISTS_RECID" IS MULLY THEM MULL ELSE "SERVI

TO_PORTS_PINS_LENS_RECID

PORTS_PINS_LENS_&: CASE WHEN ("EQILIPMENT _RECID" IS HULL OR "PORT" IS NULL OR "PORT_SIDE_LISTS_RECID" IS NI

PORTS_PINS_LENS_PH: RECID ASC
PORTS_PINS_LENS_T: TEMANTS_RECID ASC



